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We can read of things that happened 5,000 years ago in the Near East, where

: people first learned to write. But there are some parts of the world where even

! now people cannat write. The onlxn%a)r that they can preserye their history isto 2
d

. ,Q\/JL] ) i P
v o5\ recount ias saga”@—léﬁnds handed down from one generation of story-tellers—

k>’;“ 5 “to another. These legends are useful because they can tell us something about
Cod " > - migrations of people who lived long ago, but none could write down what they
D B g 1 : . . 4 \ ot sl
N did. Anthropologists wondered where the remote afiéestors of the Polynesian *%<7
; peoples now living in the Pacific Islands came from. The sagas of these people
explain that some of them came from Indonesia about 2,000 years ago.
1o - But the first people who were like ourselves lived so long ago that even their
- . AU s 2 S S
S ,sagas, if they had any, are forgotten. So archaeologrsts haveneither %mtory nor
Lo _)33\“" legends to help them to find out where the first ‘modern men’ came from.
* =7 _Fortunately, however, ancient men made tools of stone, especially flint, be-
. cause this is easier to shape than other kinds. They may also have used wood
15 and skins, but these have rotted away. Stone does not decay, and so the tools of
long ago have remained when even the bones of the men who made them have

- disappeared without trace.

RosiN PLACE Finding Fossil Man
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Write two sentences using the same construction with the verbs get and buy. =
4. Compare these [Wo sentences: P
Instead of saying: So archaeologists have neither history nor legends to help them to
find out where the first ‘modern men’ came from. (il. 11-12)
We can say: So archaeologists have neither history nor legends to kelp them find out
where the first ‘modern men’ came from.
Write two sentences using these expressions: help me to lift; helped me make.
5. Supply the word the where necessary in this paragraph. Do not refer to the passage
until you have finished the exercise:. '
Fortunately, however, . .. ancient men made . . . tools of .. . stone, especially . . . flint,
because this is easier to shape than . . . other kinds. They may also have used . . . wood
and . . . skins, but these have rotted away. . .. stone does not decay, and so . . . tools
of long ago have remained when even. . “bones of . .. men who made them have
' disappeared without trace. (Il 13-17) '
" 6. Compare these two sentences: o oo -
Insiead of saying: It is pussible that they used wood and skins, but these have rotted
.' :_away_ : : ’ RTSTIE e C o PR
Ve can say : They may have used wood and skins, but these have rotted away. (1. 14-15)
‘\Write these sentences again using the construction with may have. - B
a2 It is possible that your mother called when you were out.
- b Itis possible that you left your umbrella in the waiting-room.
¢ It is possible that he changed his mind.

Special Difficulties

1. Write sentences to bring out the difference between the following pairs of words:
parts (L. 2), places; history (L. 3), story; wondered (1. 7), wandered; like (l. 10), as; find
out (l. 12), find; ancient (1. 13), old; tools (1. 17), instruments; stone (. 13), rocky skin
(L. 15), leather. : o

2. Study the use of happen in these sentences:

We can read of things that happened 5,000 years ago. (. 1)

He happened to be an archaeologist. ' :

It happened that he knew the answer.

Complete the following sentences:

a Do you happen ...

b Tt so happens that . ..

¢ Can you tell me what.. .
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Why, you may wonder, should spiders be our friends? Because they destroy $o
many insects, and insects inclnde some of the greatest enemies of the hurnan
race. Insects would make it impossible for us to live in the world; they weuld
devour all our crops and kill our flocks and herds, if it were not for the protecticn
5 we get from insect-eating animals.-We owe a lot to the birds and bezsts who ezt '.
insects but all of them put together kill only 2 fraction of the number destroyed . -
- by spiders. Moreover, unlike some of the cther insect eaters, spiders never do '
the least harm to us or our belongings. ' '
_ - Spiders are not insects, as many people think, nor even nearly reiated to them.
10 One can tell the difference almost at a glance for a spider always has eight legs
“ and an insect never more than six. ' ) o
-How rany spiders are engaged in this work on our behalf ? One authority on
- spiders made a census of the spiders in a grass field in the south of England, and
o he estimated that there were more than 2,250,000 in one acre; that is something
15 like 6,000,000 spiders of different kinds on a football pitch. Spiders are busy for
~ vt deast half the year in killing insects. It is impossible to make more than the
- wildest guess at how many they kill, but they are hungry creatures, not content
. with only three meals a day. It has been estimated that the weight of all the in-
- sects destroyed by spiders in Britain in one year would be greater thar the tota
" 20 weight of 2!l the human beings in the country. IR

: . K X o ) .
0T H. GILeeseie Spare that Spider from The Listener
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them. Cne can tell ... difference almost at . . . glance for .. . spider always, has eight
legs and . . . insect never more than six. ' Ee

How many spiders are engaged in this work-on our behalf? One authority en . . .
spiders made . .. census of . .. spiders in . .. grass field in ... south of . . . England,
and he estimated that there were more than 2,250,000 in...acre; that is something
like 6,000,000 spiders of different kinds on . .. football pitch. (. g-15) )

Special Difficulties

- 1. Write sentences to bring out the difference between the following pairs of words:

all. .. together (1. 6, atiogether; other (L 7), else; least (1. 8), last; harm (L. 8), hurt;

glance (1. 10), glimpse; work (L. 12), job; estimated (L. 14), calculated.

. Which verbs could be used in place of get in these sentences:

a They would devour all our crops and kill our flocks and herds, if it were not for the

protection we get from insect-eating animals, (1. 3-5)

b got this hat at the shop on the corner.

¢ Wil you get that book for me please? It's on the shelf.

4 1 got a letter from my brother yesterday.
¢ Im sorry, I didn’t get that remark.

f 1 didn’t laugh because I didn’t get the joke.

= 3. Note the use of tell in this sentence: )
~ One can tell the difference almost at a glance. (L. 10)
" Supply the correct form of say or tell in these sentences:

2 Will you please . . . me the time?

" P’m not very good at ... stories.
¢ You must. .. your prayers and go to bed.

d Please .. . nothing more about it.

¢ 1can...you something about it.

f We. .. goodbye and left.

g 1 want you to- . . the truth. S

4. Note the use of make in this sentence: "

One authority on spiders made a census. {11, 12-13) D
Supply the correct form of make or do in the following sentences: -

2 1... anumber of proposals, none of which was accepted, .

b Pl .. the washing up. "- R

¢ Will.you help me to . . . this crossword puzzle?

4 You've. . quite a few mistakes. R

¢ Dve: . ar appointment for you for next week, <.

/ They . .- an announcement about it on the radio,

g T'll... my best to help you. S AR S
5. Write sentences using the following phrases with af: at a glance (l. 10); at Jeast
(L 16); at any rate; at a loss; at sight;atatime. 1 G
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Modern alpinists try to climb mountains by a route which will give them good
sport, and the more difficult it is, the more highly it is regarded. In the pioneering
days, however, this was not the case at all. The early climbers were looking for
the easiest way to the top because the summit was the prize they sought, especi-
ally if it had never been attained before. 1t is true that during their explorations
they often faced difficulties and dangers of the most perilous nature, equipped

" in a manner which would make a modern climber shudder at the thought, but

10

they did not go out of their way to court such excitement. They had a single aim,
a solitary goal—the top! '

1t is hard for us to realize nowadays how difficult it was for the pioneers. Ex-

~ cept for one or two places suchhas Zermatt and Chamonix, which had rapidly

. become popular, Alpine villages tended to be impoverished settlements cut off

" from civilization by the high mountains. Such inns as there were were generally

- dirty and flea-ridden; the food simply local cheese accompanied by bread often

-
.o

_twelve months old, all washed down with coarse wine. Often a valley boasted no
inn at all, and climbers found shelter wherever they could—sometimes with the

~“local priest (who was usually gs poor as his parishioners), sometimes with shep-
* herds or cheese-makers. Invariably the background was the same: dirt and
- poverty, and very uncomfortable. For men accustomed to eating seven-course

“dinners and sleeping between fine linen sheets at home, the change to the Alps
-must have been very hard indeed. S

WaLTER UnsworTH Alatterhorn Man

1

Bergdorf, a mountain village

in Switzerland
11
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Often a valley boasted no inn at all. (1. 15-16)
In the following sentences, the word offen can be placed in two or more different posi-
tions. Indicate the correct positions in cach sentence:
a I am in such a hurry, I don’t have time for breakfast.
b We buy things we don’t really need.
¢ He is sent abroad by his firm.
4. Compare these two sentences:
It is hard for us to realize . . . how difficult it was. (1. 10)
It is hard to realize how dlfﬁcult it was.
‘Complete the following sentences:
a1t was impossible for them ..
b Tris difheudt . . '
¢ It is easy for you . .
5. Note the use of such in these two sentences: :
- They did not go out of their way to court such excitement, (l 8) .
- -Such inns as there were were generally dirty. (11, 13- 14)
 Write sentences using the following phrases: :
~such requests; such freedom; such difficulty; such ﬁlms
6. Note the form of the \erb in italics: S o
" “For men accustomed to eating seven-course dinners . (1. 19 20) L
o _'.{Complete the following using a \erb after each phrase ' Lo

g -] am used to .

4 Do you ob;ect to my o
- ¢ 1 am looking forward to. .

Spec1al Difficulties

. Write sentences to bring out the dlﬁerence between the follov.mcr pairs of \\ords
_' case (1. 3), situation; especmi ~(ll. 4~5), specially; realize (1. 10}, understand exceptfor.
- (Il. 10-11), except; coarse (1. 13), course; home (l. 20), house,
2. Explain the meaning of the phrases in italics:
'« They did not go out oft}mr way 10 court such exc:tement (1 8)
-b Please ask him to get out of the may; 1 can’t get past. =
- We bought a beautiful out-of-the-may cottage miles from am “here
; fz' Please move that table. Can't you see it's in the. may’ LA
¢ Il call in and see you on my may home from work. .
f We must do this exercise in the may we ha\e been taught

I3
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Comprehension

Give short answers to these questions in your own words as far as possible. Use one
complete sentence for each answer.

a How did Vera's father accidentally discover that his daughter possessed unusual
powers of perception?

b Under what conditions was Vera incapable of percemng ob)ccts with her skin?

¢ Under what conditions did Vera lose the ability to perceive objects with her fingers?

- Vocabulary

-Give another word or phrase to replace these words as they are used in the passage:

~several (L 1); detect (. 2); vision (1. 4); perceive (1. 4), curious (1 9); series (l my; o

s .'outlmes (1. 16); a similar (1. 17); ceased (l. 20).

G - The Sentence

Suppl\ the missing words in the follomng sentences. Do not refcr to the passage

B '_’_'untrl you haveé finished the exercise: .

2 In the Soviet Union several cases have been reported recentl) of pcople . can

'-read . detect colours with their ﬁngers . even see through solid doors and Walls
- One case concerns an elev en-year-old schoolgrrl Vera Petrova, . . has ‘normal
NIsIon . .. ... can also percene thmv:. mth different parts of her skm thmucrh

' - solid walls. (II. 1-3)

b It was also found that .. . she could perceive things mth hcr ﬁngers thrs ablhty
“ceased ... ... her hands were wet. (Il. 19-21)

2. Complete these sentences in any way you v.nsh Then compare uhat }ou ha\e v.rlttcn _
~with the sentences in the passage: '
o ‘One day she came into his office and . . . (il. 5—6)

~b Suddenly she asked her father why . . (I )

¢ Vera's curious talent was . . . (. g)

- d During these tests she ... (1. 12)

- ¢ It was also found that . .. (l. 1¢9)

3. Write three sentences dcscrrbmg Vera’s unusual abilities.

Key Structures

1. Supply the correct form of the \erbs in brackets Do not refer to the passage until

you have finished the exercise:
~..a . In the Soviet Union several cases (report) recently of people who can read and detect
colours with their fingers. (i 1-2)

b/ This ability first (notice) by her father. (1. 5)

¢ Vera's curious talent (bring) to the notice of a scientific research institute in the
~town of Ulyanovsk, near where she lives, and in April she (give) a series of tests by a
~ special _commission of the Mimstry of Health of the Russmn Federal Republic.
(. g-12)
d 1t also (find) that although she (can) perceive things with her ﬁngcrs this ability
(cease) the moment her hands (be) wet. (Il. 19-21)

2. Compare the word order in these two sentences:

Why did he keep so many old newspapers locked away there?
She asked her father mhy he Lepr so many old newspapers locked away thcrc (ll 7-8)
Write these sentences again, beginning each onc with the words [ asbed him .

¢ When did he buy that car?
# Where did he find that book?
¢ Why did he send a telegram?

I5
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The goritla is something of a paradox in the African scenc. One thinks one
knows him very well. For a hundred years or more he has been killed, captured,
and imprisoned in zoos. His bones have been mounted in natural history
museums everywhere, and he has always exerted a strong fascination upon scien-
tists and romantics alike. He is the stereotyped monster of the horror films and
the adventure books, and an obvious (though not perhaps strictly scientific) link
with our ancestral past.

Yot the fact is we know very little about gorillas. No really satisfactory photo-

graph has ever been taken of one in a wild state, no zoologist, however intrepid,

‘has been able to keep the animal under close and constant observation in the

dark jﬁlnglcs in which he lives. Carl Akeley, the American naturalist, led two

- expeditions in the nineteen-twenties, and now lies buried among the animals he

loved so well. But even he was unable to discover how long the gorilla lives, or

~how. or why it dies, nor was he able to define the exact social pattern of the
“familv groups, or indicate the final extent of their intelligence. All this and many
“other things remain almost as much a mystery as theyv were when the French

explorer Du Chaillu first described the animal to the civilized world a century

" ago. The Abominable Snowman who haunts the imagination of climbers in the
- Himalayas 1s hardiyv more elusive.

AvLaN MOoOoREHEAD No Room in the Ark

A family of goriilas

17
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dark jungles in which he (live). Carl Akeley, the American naturalist, (lead) two
expeditions in the nineteen-twenties, and now (lie) buried among the animals he (love)
so well. (1l. 8-13) '

3. Compare these two sentences: '

Tustead of saying: . ..1in the dark jungles in which he lives. (I, 10-11)

We can say: ... in the dark jungles he lives in.

Write these sentences again omitting the words whom and which and changing the
position of the words in italics:

a The person from whom I got this information is an expert on the subject.

b The incident z¢ which you referred occurred several years ago.

¢ Biochemistry is a subject about which I know very little.

4. Note the phrase in jtalics in this sentence:

Al this and many other things remain almost as much a mystery as they were when the
French explorer Du Chaillu first described the animal to the civilized world a century

ago. (1l 15-18) L
Complete the following sentences:
a There were as many people present. ..

b It was as much a surprise to me . . .
"¢ We have received as many Christmas cards . ..

:Sp_ecial Difficulties

1. Write sentences to bring out the difference between the following pairs of words:

“captured (1. 2), arrested ; natural (1. 3), physical; alike (1. 5), the same; past (. 7),
“passed; among (1. 12}, between; discover (I. 13), invent. T
2. Explain the word a/l in these sentences:

4 4/l this remains a mystery. (Cp. 1. 15-15)

b Many students were late and we weren’t able to begin the lesson until they had all
come. '
¢ All was quiet.

d All were quiet. -

3. Study the pattern in italics: :

Du Chaillu first described the animial to the civilized world. (. 17) -

Complete the following sentences: L

¢ As I could not understand the problem, he explained . ..

b As 1 did not know anyone present, he introduced . ..

¢ He proposed a toast . ..

d He presented a book . . .

4. Explain the meaning of haunt in these sentences: L

+ The Abominable Snowman haunts the imagination of climbers. (1..18)

b That old castle is said to be haunted. B T R

¢ The penguins spend the summer months at their breeding haunts.

/ He often comes here. It is onc of his haunls. e

19
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he was young?

-

-la

Comprehensxon

Give short answers to these questions in your own words as far as possible. Use one
complete sentence for cach answer.

« What, according to the writer, is the one difference between an old man-and a
young one? '

# Why would thc writer have been pleased to have been regarded as a problem when

.

I\arm three qualities in young people which the author partlcularly adm:res

Vocabulary

- Give another word or phrase to replace these words as thcy are used in the passage:
:: '-create (1. 2); teenager (L. 8) dexot:on (l 15) lmk (L 16) origins (l 16) dreary-(L 19)

_’_The Sentence

. Complete the following sentences in any way you msh Then compare v.hat }ou
ha\e written with the sentences in the passage: ' :

4 There is only one dlﬁ'erence between an old man. aﬁd a }ouncr one: o _-(11_ 4%5) _';
0 When I was a teenager, ] . s ).

-1 find young people exciting. They . .. (l. 13)
“Combine the follomng statements to make complete sentences. . Add conjunctions

_'of\our own and omit the v.ords in italics. Do not refer to the passage unul you h.ne _
" finished the exercise. :

a.f there is one, I take leave to doubt 72, It is older people “ho create it. 1! ts not the_ .

“young themselves. (Il 1-3) %
b They are not anxious social climbers. They haxe no . de\otlon to matc.rm! thmfrs
IR (198 KT8 £y

© 3. Write three statements which an adult might make-to criticize adolescents.

4. Write three statements which an adolescent might make to criticize adults.

_ Key Structures

Com vare these two sentences:

'Pc ple are always tulking about ‘the problem of vouth’. (1. 1)

Whenever 1 meet him, he a/ways tafks about his ptrsonal problems.

‘The first sentence describes something that happens all the time; the second sentence
describes something that happens frequently. '

\rite similar pairs of sentences using the following verbs:

change; make; tell; ask.

2. Compare these two sentences;
It is older people who create it, not the yuung themselves. (Il. 2-3)

There is only one difference between an old man and a young once: ... (Il 4 -5)

Write similar pairs of sentences using the following words:
- the rich, a rich man; the sick, a sick man; [hL blind, a blmd man; the dead, a dead man,

3. Compuare these two sentences:

Instead of saying : 1 would have been very pleased if anyone regarded me as 2 problem.
e can suy: 1 would have been very pleased to be regarded as a problem. (Il. 9-10)
Write these sentences again using this construction with fo be in place of the phrases
in italics: '
« You would not like it if you mere accused of theft.
/: I was astonished mhen they told me that all the tickets had been sold out.

- 1 expect they will inform me about 1t tomorrow.
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7

I am always amazed when I hear people saying that sport creates goodwill be~
tween the nations, and that if only the common peoples of the world could meet
one another at football or cricket, they would have no inclination to meet on
the battlefield. Even if one didn’t know from concrete examples (the 1936
Olympic Games, for instance) that international sporting contests lead to orgies
of hatred, one could deduce it from general principles.

Nearly all the sports practised nowadays are competitive. You play to win,
and the game has little meaning unless you do your utmost to win. On the wllage
green, where you pick up sides and no feeling of local patriotism is involved, it
1 p0551blc to play simply for the fun and exercise: but as soon as the question of
prestige arises, as soon as you feel that you and some larger unit will be dis-

- graced if you lose the most savage combative instincts are aroused. Anyone who
“has played even in a school football match knows this. At the international level

sport is frankly mimic warfare. But the significant thing is not the behaviour of
the players but the attitude of the spectators: and, behind the spectators, of the

“nations who work themselves into furies over these absurd contests, and seriously

believe—at any rate for short periods—that running, jumping and kicking a ball

~are tests of national virtue.

GEORGE ORWELL The Sporting Spirit

Policemen chase a fan at the 1966 Football Association Cup final at Wembley
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2. Note carefully the form of the verbs after the phrase as soon as in this sentence:
As soon as the question of prestige arises, as soon as you feel that you and some larger
unit will be disgraced . . . the most savage combative instincts are uroused. (. 10-12)
Supply the correct form of the verbs in brackets in these sentences:
a If he (make) any trouble, he will be asked to leave the meeting.
# You will feel much better when you (stop) smoking.

As soon as he (arrive) in New York, he will send me a telegram.
d You can wait here until the rain (stop).
¢ When vou (move) to vour new house vou will be far more comfortable than you
are now.

'3. Supply the missing words in the following paragraph. Do not refer to the passage

until you have ﬁmshed the exercise: .
-A_r_l}onc who has plaved even...a school football match knows this, . .. the inter-

" national level sport is frankly mimic warfare. But the significant thing is not the be-
~haviour .. . the players but the attitude . . . the spectators: and, . . . the spectators,
- _t-he nations who work themselves . . . furies . . .. these absurd contests. (ll. 12-16)

| B Specml D1fﬁcu1t1es

Y rite sentences to bring out the difference between the foilomncr pairs of words:

e h_L.:r_{l. 1), listen; even (L 4), still; lead (1. 5), guide; principle (L. 6), I)rlnL_lp.ll,_p[“l_Ltlfat.
_ (l =), practice; win (L. 8), beat; lose (1. 12), loose; arise (L. 11), arouse (L 12); level -
(_]-_.'ij)_‘.f‘l'.lt. L BN

2. Explain the meaning of the word peoples in this sentence:

- If only the common peapifes of the world could meet . .. (1. 2)
" “Write-two sentences using the words people and peoples.

Compare these two expressions:
Instead of m)'m"' The Olympic Games that were held in 1936 ...

e can say : The 1936 Olvmpic Games ... {11 4-3)

What can we say in place of the phrases in italics:

« T shall catch the tram that feaves al ﬁmr o clnck,

b1 have a copy-of the edition that was pullished in 19 3;

The Flinttion ~I 1 of 1yqqaimed at providing cqual uppur{umms for every c_hlld in
[hL Country. :
a/ The revolution of 117 had important consequences.

Compare these two sentences:
()m umld leduee it from general principles. (1. 6)
Yo play 1o win, and the rame has little meaning unlcss you do vour uLmost.t to win.
(Il 7 8) : -
\\;m two sentences using the words ene and yor in th:, Wiys shu\m .1b0\
3. Fxplain the words and phrases in ttalics: R :
¢ 1Uis possible to play simply for the fior and exercse. (11, L)—IO)
i There was a ot of fin and laughter at the party. - :

Fle didn’t mean any harm; it was all in good fun.
{ He's upset because evervone made fun of him, .

(¥
N
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Comprehension

Give short answers to these questions in your own words as far as possible. Use one
complete sentence for each answer.

a Give three reasons why parents have to do much less for their children today.

b Why are boys seldom trained to follow their father’s occupation?

¢ Why is father rarely thé*dominant figure in the modern home?

Vocabulary

-Give another word or phrase to replace these words as they are used in the passage:
 pursue {l. 6); employment (1. 6); acquires (l. 10); textile areas (L. 11); customary
"(l. '11); widespread (L. 12); substantial (. 15); dominant (1. 15); accrue (L. 17). - '

B The Sentence

Combme these pairs of sentences in four different ways using the following con-

]unctxons as, because, so, and and. Then compare your answers mth the sentences in
- the passage: ' -
““a.Parents have to do much less for the1r chlldren today than thcy used to do Home has :
" .‘become much less of a workshop. {ll. 1-2) - L
4 It is unusual now for father to pursue his rrade or other emplm ment at home HIS
- .children rarely, if ever, see him at his place of work. (11. 6-7) o
-« The young wage-earner often earns good money. He soon acqulres a feelmcr of
. €CONOIMIC 1ndependence (Il. g=10) - : :
2.:Combine the following sentences to make one complex statement out of each group _
- Make any changes you thmk necessary but do not alter the sense ofthe or:gmal Refer N
- to the passage \'»hen you have finished the exercise: :
2 Boys are theréfore seldom trained to follow their fathers occupatlon In many
: towns they have a fairly mde chmce of ernp!oyment G:rls ha\e a mde chou:e too.
. '-[1 In textile areas it h.}:, long been customary for mothers to go. out to work Th;s prac-
_tice has become widespread. The working mother is now a not. unusual factor in a
child’s home life. The number of marned women . 1n emplo»ment has more than

doubled in the last twenty-five years. (Il 10-14)

-3. Write three sentences in your own “ords explaining “hy a famlh may suffer when

mother goes out to work.

_Ke_y Structures

1. Compare these two sentences:

'Parents have to do much less for their children today. (L. 1)

Far fewer people are prepared to work long hours today_.

“ Complete these sentences by adding much less or far fewer :
a There is .. . demand for this model than there used to be. _ :
"6 Now that we have installed calculating'machines in the office, ., . time is wasted.

“¢ ‘Now that the new regulatlons have come into force, there are . ac_cidents on the
‘Foads. :

d This year the universities received . . . applications from students intending to study
science than they did last year,

2. Compare these two sentences:

Parents have to do much less for their children today than they wsed to do. (1. 1)
When we first came to Australia we did not like the hot weather, but we are used to
it now.
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Not all sounds made by animals serve as language, and we have only to turn to
that extraordinary discovery of echo-location in bats to see a case in which the
voice plays a strictly utilitarian réle.

To geta full appreciation of what this means we must turn first to some recent
human inventions. Everyone knows that if he shouts in the vicinity of a wall or
a mountainside, an echo will come back. The further off this solid obstruction,
the longer time will elapse for the return of the echo. A sound made by tapping
on the hull of a ship will be reflected from the sea bottom, and by measuring the

- time interval between the taps and the receipt of the echoes the depth of the

sea at that point can be calculated. So was born the echo-sounding apparatus,

. now in general use in ships. Every solid object will reflect a sound, varving ac-

cording to the size and nature of the object. A shoal of fish will do this. Soitisa
comparatively simple step from locating the sea bottom to locating a shoal of

fish. With experience, and with improved apparatus, it is now possible not only
to locate a shoal but to tell if it is herring, cod, or other well-known fish, by the

pattern of its echo,

- A few vears ago it was found that certain bats emit squeaks and by receiving

the echoes they could locate and steer clear of obstacles—or locare flving insects

- on which they feed. This echo-location in bats is often compared with radar, the
-principle of which is similar. :

MAURICE BurtoN Curtosities of Animal Life

A bat, who loves eating bananas, here flies round one



ot

0g pmt'[m[vo aq urd jutod 1m{1 1t B3S © T jO q]dap T sa0YR0 ;0 112021 * - pue

sduy - ummgq [n\mm iy’ - Bunmseaw Sq pue r.uouoq TS 7 T WOd) Ayt

2q [iw dtqs ‘jo Yyt uo Emddm iq speuw punos oqaa_ _;o WInga1 v v 10g

aqdria [[ts nuu mﬁuol : ‘ummnmqo pIOS s:qr o Jaqun; “-yarq W0 uu\ o’qn

ap:sumunom TI0 fieM JO LUy Uk sInoys ay _;l eyl s“ou‘[ Juoi1y 7}

13SID10X9 AY1 paysiuy dsey nox |uun sdussed

aql 03 .13_;3.1 10u 0(] qdmﬂund ﬂumo“o; aqz ut urqsaaau alaq\\ np 10 ‘ug ‘o Njddng -z
R LT : paaoonsoL

“Solud o], q

: purmapun O »

- §35UNUDS Sumono; i aza[dtuog

_ (RS SR “(§=F [p) ‘suonuasut upwny H3J21

3WOS 07 1S4y UINY 1SN I suraLu an1 wq“ _;o uourna.tddr [y e d af :dos uny |

ST R © o suofiuasuy urwuny U331 WS 01 181y

© UINY SN M SUTIUL SIYY 1aq.v.' Jo u’ogwtaazddz iy e sad oy st i ff 2 SurCos o poajsug

o e :S22UIIUIS OM] 353Y] amdmo_) I

E sa.lman.ns (9)1-

SR : : uoumo; oqaa 30 aphouud aq1 30 sasn
ma.raﬂtp aajqx ﬁuueorpul qaou;uuas aaqu ;nm\ a3essed ayy 01 Buriojal oyl W
L S C(B1=L1 7)) *pady £3y1 YoIY M UO s1asur Juisyy :m’ao[-
plnoa ‘QLLL sapz]sqo }0 map 13918 p[nod AayJ, '59{2818qo 10| p[noa \aqi "$30423
U1 pastadal Loy -syeanbs 1w sieq UIELD 1B punoj sen 11 03e siEdl M3y ¢ 2
e _ (g1-¥1 ) "oyoa
" 51§.'_;0' u.I;)n‘tzd a1 £q ‘ysy usouy-jjas 1310 10 'p0Od ‘Juraiay st J1[j31 01 a;qlssod S11]
'leot{s' ® ;183‘01 01 aiqgssod wou st 1 ‘sniesedde pasordut i pue 3uatiadxa Yl P
: (z1-11"]]) 139(qo ayl jo -
':umeu pue ;ms aql o1 Burpjovw SILIEN SIYL, "puUnOS E 129]J21 [[1w 193{QO pi[os f1aa I
- (o1-L ‘|[) "pa1T[nIE 3q UED wiod 1ey1 e 83s 3y jo yidap oy L, saoqaa _
E aql }o 1d19331 2y pue sdey a2 U1 [rAIIU U ) FINSEIW UED I 4\ 'WONOG T3S
'-aqa Luo.g pamaual 9q “n\ JI d:qs 230 [lnq qu uo Euxddel £Q apeur 3q UED pUNOS Y ¢
S : L (E-1°10) 3104 uzLIEILN Apotnse siepd
'- 9310\ aql L{DIL[“ ux 3580E aas ued a“ ‘$1EQ Ul uonnoo[ oY23 JO £13100s1p SIRUIpIOBAING
-_"zeqz 01 uimnj o1 {Iuo awq a\‘\ aﬁanﬁunl SRR ELS sp:uuue {q apewl spunos {2 10N poo
s T a81DI9X ) poysiuy asey rioX uaq\\ s8essed sy 01-._'-'_'
N JO}QH pzmﬁuo g jO I5UIS Y J;;:(B 10u'0p 1Mq 18552030 JuIy1 nos sadueyd Aue ey
‘dnosd q:ma }o 10 JuaWsiEIs ¥5[dWod 2U0 el 01 SIIUIIUIS Sutiopjoy 21 2UIQUOD) T

Joualuag oYy,

( i [ wap 19918 ! (LI {) mua (EI $)] {[auw.teduma (z1 1 [eoqs.__._'_'

(01 D snlmedde (L 1) Surddey (L 7) asdep (S -y Suuona H(E () weLEIgUN s
-23ussed 9y Ur pasn aie {3yl Se SpIOM s3] asejdar 0 ssqu 10 PIOM 12YIOUE dALLY

L1e[nqQed0/

: uoueao[ 0y23 jo a[d:auud Y1 JO ayEW S1EQ OP SN IEYY\

s K1es s193lqo prjos £q paldayas Spunos 3yl op Sym ¢

¢ €9s oy} Jjo y1dap ay3 aunseawl 0} pardde sjdurid uonEIO[-0YI3 3yl St MOH ¥
*IDMSUE OB 1Of 33UIIUIS 219(dwoo

auo as() "a[qissod se Iej se spIos UMO mof ur suorsanb 3sIYI 01 SIINSUB JI0US A
uorsuayiduro])




was born ... echo-sounding apparatus, now in. .. general use in. .. ships. Every
solid object will reflect . .. sound, varying according to . . . size and . . . nature of .
object. .. .shoal of .., fish will do this. So it is . commrameh clmp'ie step frovn
locating . . . sea bottom to locatmg . shoal of . ﬁsh (1l. 5~14)

3. Study the form of the verbs in 1ta1|es in these sentences:

A sound made by mppmg on the hull of a ship will be reflected from the sea bottom,
and by measuring the time interval between the taps and the receipt of the echoes the
depth of the sea at that point can be calculated. (ll. 7-10)

It was found that certain bats emit squeaks and by receiving the echoes they could
locate . . . obstacles. (li 17-18)
- ~Write threc sentences in the same way using 4y followed by the -ing form of a verb.
- 4. Note that the verb compared is followed by mith in this sentence: Echo-locatlon in

oobatsis. .. compared with radar. (1. 1g)
. Supply n:'z!/z , for, or to in the following sentences:

a 1 have been corresponding . . . him for many years.

- b -He was arrested and charged . murder.

f-fHo“ much do you charge . this service ?
_'."i-'jd I can’t pronde you . . .all the things you need.
e "We have provided . . . Very emergency.
-__'f Did you apply . . that job?
¢ If you want a loan vou should apply . . . the bank.

s !f He’ s much too quick for me. I just can’t compete . . . him.

‘Special Difficulties

- 1. Write sentences to bring out the difference between the fol Howing pairs of words:

. sound (L 1), echo (L. 6); discovery (1. 2), invention (1. 5); apprecmnon (l 4) estlmatlon
“obstruction (1. 6), obstacle (. 18); steer (L. 18), drive, e '

- 2. Supply the missing words in these sentences:

““a Not all the sounds made . . . animals serve as Ianguacre (L. 1)

b This camera was made . japan

- ¢ Glass is made . . . sand an_d lime.

- d This watch is made . . . gold.

" 3. Explain the word Etperfeme in these sentences: .

o a With experience . . . it is now not only possible to locate a shoal but to tell if it 1s
: herrmg‘ cod, or other well-known fish. (il. 14-15) e

b He is a very experienced surgeon.

- ¢ It was one of the strangest experiences 1 have ever had

4. What does the phrase to te/l {f mean in this sentence:

- Ttis now possible . . . 0 tell if it is herring, cod, or other “ell Lnoun fish. (ll 14-15)
“Write two sentences using to tell If.
5. Note the spelling of echoes (1. 18). Write the plural of the follomnv v&ords potato,

o p:ano tomato, negro, solo.
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Comprehension

Give short answers to these questions in your own words as far as p0551ble Use one
complete sentence for each answer.

a2 What do you think the author means by the sentence ‘We are asked to choose be-
tween various shades of the negative.’? (Il. 5-6)

& What do you understand by the metaphor ‘the engine is falling to pieces’? (ll. 6-7)
¢ What do you understand by this metaphor: ‘capturing one plum after another and
taking the juice and taste out of them’? (1. 10) :

Vocabulary

Give another word or phrase to replace these words as they are used in the passage: the
-'manipulators (I. 1-2); pigeonholes (1. 3); do with (l. 4); enthusiasm (1. 5); release (l. 5);
cranng (1. 9); get on (L. 9}; worship (l. 11); ache (l. 13); gleam (l. 15) packed (l 16).

S g The Sentence

1. “Combine the following sentences to make one complex statement out of each group.

~:Make any changes you tth necessary but do not alter the sense of the ongmal Refer
-to the passage w hen you have finished the exercise:
~a The tidy committee men regard them with horror. They Lnou that no prcreonhot
- can be found for them. (1. 2—4)

b The engine is falling to pieces. The joint owners of the car argue. ShouId the foot-~
._ ‘brake or the handbrake be applied? (1l. 6-8) -
- Notice how the cold, colourless men get on in this society. They have no 1deas They

: ha\e no other pabs:on but a craving for success. They capture one plum after another.

They take the juice and taste out ofthem (Il 8~10)

'd Sometimes you might think the machines we worship make all the chief appoint-
ments. They promote the human beings who seem closest to them. (1. 11-12)

¢ ‘Between midnight and dawn sleep mll not come. All the old wounds begin to ache.
I often have a nightmare vision of a future world. There are billions of people in it.
They are all numbered and registered. There is not a gleam of genius anywhere, There
is not an original mind, a rich personality, on the whole packed globe. (Il. 12-16)

2. Without referring to the passage, explain in a sentence what it is the author is angry
about.

Key Structures

1. Write these sentences again changing the position of the words or phrases in italics.
In some cases more than one position is possible. Do not refer to the passage until you
have finished the exercise:

a ‘There is 1 our new society a growing dislike of original, creative men. (1. 1)

b I hile the engine is falling to pieces the joint owners of the car argue whether the
footbrake or the handbrake should be applied. (il. 6-8)

¢ You might sometimes think the machines we worship make all the chief appointments.
(Il 13-12) :

d HWhen between midnight and dawn, sleep will not come and all the old wounds begin
to ache, offen I have a nightmare vision of a future world. (1. 12-14)

2. Compare thesc two sentences:

We could do with a few original, creative men. (1. 4)

There are few original, creative men in our society,

- Write two sentences to bring out the difference in meaning between a fer and ferr,

3. Supply the missing words in the following sentences. Do not refer to the passage
until you have finished the exercise:
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10

IX

Alfred the Great acted as his own spy, visiting Danish camps disguised as a
minstrel. In those days wandering minstrels were welcome everywhere. They
were not fighting men, and their harp was their passport. Alfred had learned
many of their ballads in his youth, and could vary his programme with acrobatic
tricks and simple conjuring. ‘

While Alfred’s little army slowly began to gather at Athelney, the king himself
set out to penetrate the camp of Guthrum, the commander of the Danish in-
vaders. These had settled down for the winter at Chippenham: thither Alfred
went. He noticed at once that discipline was slack: the Danes had the self-
confidence of conquerors, and their security precautions were casual. They lived
well, on the proceeds of raids on neighbouring regions. There they collected
women as well as food and drink, and a life of ease had made them soft.
~Alfred stayéd in the camp a week before he returned to Athelney. The force

" there assembled was trivial compared with the Danish horde. But Alfred had

deduced that the Danes were no longer fit for prolonged battle: and that their
commissariat had no organization, but depended on irregular raids.

" Sp, faced with the Danish advance, Alfred did not risk open battle but harried

~the enemy. He was constantly on the move, drawing the Danes after him. His

20

patrols halted the raiding parties: hunger assailed the Danish army. Now Alfred
began a long series of <kirmishes—and within 2 month the Danes had sur-
rendered. The episode could reasonably serve as a uhique epic of royal espionage!

BERNARD NEWMAN Spies in Brilain

Alfred, disguised as a harpist, in the camp of the Danes

37
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4. Compare these two sentences:

Instead of saying : Their commissariat had no organization. (.- 15-16)

We can say: Their commissariat hadn’t any organization.

Supply suitable compounds with no or any in the following:

a ... called while you were out.

b Did you go . . . last night ?

¢ Haven’t you got .. .to do?

4 He said he knew . . . about it.

¢ I don’t know ... by that name.

5. Give the correct form of the verbs in brackets. Do not refer to the passage until you
have finished the exercise:

So, faced with the Danish advance, Alfred not (risk) open battle but (harry) the enemy.
He (be) constantly on the move, (draw) the Danes after him. His patrols (halt) the
raiding parties: hunger (assail) the Danish army. Now Alfred (begin) a long series of

' S'k_i_rmishes—*and within 2 month the Danes (surrender). (Il. 17-21) _

. Special Difficulties

"y, Write sentences to bring out the difference between the following pairs of words:

wandering (1. 2), wondering; learned (1. 3), taught; noticed (L g), remarked; con-

- querors (1. 10), winners; force (1. 13), strength.
2. Explain the meaning of the verbs and expressions in italics:

2 These had settled down for the winter at Chippenham. (1. 8)

- b Have you settled your account vet?

¢ They settled In Australia before the war.

4 1's time we seitled this question. -

¢ He settled all his property on his wife.
3. Note this compound with self: - IR
- The Danes had the self-confidence of conquerors. (1. 9-10)

Write sentences using the following: -

self-assurance; self-denial; self-governing; self-centred.
"3. Explain the words and expressions in italics:

4 -The Danes were no longer fif for prolonged battle. (. 15) -~
b, ‘Does that coat fit you? . e

¢ T can’t fit all these clothes into this suitcase. el
4 He may win the race today. He's extremely fit and in good form.
» He wrote that book in a sudden fif of energy. R
/ It's a good idea, but it doesn't fit in mith our plans. - :
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- Comprehension

Give short answers to these questions in your own words as far as possible. Use one
complete sentence for each answer.

a Why, according to the author, do Hollywood films seem extremely realistic?

b What does the author find wrong with the way people are portrayed in Hollywood
films ?

¢ What effect does the censorship code have on Hollywood films?

| .Vocabulary

_:Explaln the meaning of the following words and phrases as they are used in the
‘passage: characterizes (I. 1); compensated for (1. 2): grandiose (I. 3); nothing is spared
(L 3); essential (1. 5); trivialities (1 5); r_nomatlon (ll 7 8) prcdctermmlng (l 9), E
'credlblc (. 11); burden (1. 11). L : o

The Paragraph

Sugg’est a suitable title for the passage

2. Which of the fo!lo“mg statements best e\presses_thc' main_r_ide_a of_the passa_ge:
g Holl\\mod films are impressive. Ll '
b T hough Holly wood films seem to be \er\ lmpressne m actual fact t‘ncy ha\e wer},

-._llttIC to say.

- The representation of life in Holly “ood films 1s hollo“ stupld banal childish,

3. T hc following sentences have been taken from lines 1—8 ﬂ\rrange them in thelr
- -_corrcct ‘order. Do not refer to the passage until you have finished the exerc:se
~ - What characterizes almost all Hollywood pictures is their inner emptiness.’
‘b The houses look like houses: the streets look like streets; the people look and talk
'hl\e people but they are empty of humanity, credibility, and motivation, .-

*‘Nothing is spared to make the setting, the costumes, all of the surface details LOI‘I‘CCt

:/ Such i impressiveness usually takes the form of a truly grandlose real:sm -

» This 1s compensated for b\ an outer impressiveness.

- _/ These efforts help to mask the essential emptmess of the characterlzatlon and the
L absurdltus and trivialities of the plots. - ' : '

Key Structures

Compare these two sentences:

_ ]n\h ad of suyig: The thing that Lh.zr.aucrms almost all Hollywood plctures 1s their
“inner emptiness,

_ H ¢oun say : Hhat characterizes almost all Hollvwood pictures is their inncr-_-émpti_n_ess.
' (omplctc the following sentences in any way you w 15h

~« What 1 think h.lpancd

!! What he believes
- What vou must trv to do .
Suppl\ the missing \.\ords in tthc sentences. ])o not refcr to the p.zssawc unt:l you

e ha\c fintished the exercise:

¢ 'Fhis is compensated ... by an outer impressivencss. (Il 1-2)
Ir Such imprcssi'\'cmss usually takes the form . .. a truly gr.mdmsu realism. (1l 2- 3)
They are empty . hum.lmt\ , credibility, .md motivation (I 7-8)
‘/ It merely helps to prevent thun . being credible. (Il 10 - 1|)
¢ ... addition . . . the l!]l])it‘hhl\t‘ﬂt‘hh ... the settings, there is a use .. . the camera
which .. . times seems magical. (1L 12 13)
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5

Oxford has been ruined by the motor industry. The peace which Oxford once
knew, and which a great university city should always have, has been swept ruth-
lessly away; and no benefactions and research endowments can make up for the
change in character which the city has suffered. At six in the morning the old
courts shake to the roar of buses taking the next shift to Cowley and Pressed
Steel; great lorries with a double deck cargo of cars for export lumber past
“Magdalen and the University Church. Loads of motor-engines are hurried
“hither and thither and the streets are thronged with a population which has no

interest in learning and knows no studijes beyond servo-systems and distributors,

10. compression ratios and camshafts.

-+ Theoretically the marriage of an old seat of learning and tradition with a new
and wealthy industry might be expected to produce some interesting children.

o It might have been thought that the-culture of the university would radiate out

and transform the lives of the workers. That this has not happened may be the
“fault of the university, for at both Oxford and Cambridge the colleges tend to

live in an era which is certainly not of the twentieth century, and upon a planet

“which bears little resemblance to the war-torn Earth. Wherever the fault may
lie the fart remains that it is the theatre at Oxford and not at Cambridge which

~is.on the verge of extinction, and the only fruit of the combination of industry

.20

-and the rarefied atmosphere of learning is the dust in the streets, and a pathetic

- sense of being lost which hangs over some of the colleges.

ROGER PILKINGTON Thames Waters

Tﬁé:High at Oxford
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| .Cambrﬁdge . is on the verge of extinction, and the only fruit of the combination of
industry and the rarefied atmosphere of iearmng is the dust in the streets, and a

pathetic sense of being lost . . . hangs over some of the colleges. (Il. 17-21)

Special Difficulties

1. Write sentences to bring out the difference between the following pairs of words:
ruined {I. 1), destroyed; past (1. 6), passed; interesting (I. 12), interested; fault (l. 15),
blame; lie (1. 18), lay.

2, Explam the following words as they are used in the passage: suffered (1. 4); roar
(L. 5); marriage (L. 11); seat (1. 11); children (1. 12); radiate (l. 13); fruit (L 19).

3. Explain the expressions in italics:

“a No benefactions and research endowments can make up for the change in character
~which the city has suffered. (ll. 3-4)
b My wife and I quarrelled last night and we haven’t made it up vet.
. ¢ ‘He’s a peculiar person. I sxmply can't make him out.
G e Explam the meanmg of court in these sentences:
" a Atsixin the morning the old courts shake to the roar of buses. (l. 4-5)
- »b The magistrate cleared the court.
- ¢ It was a struggle between the court and the peasants.
~d 1 think he’s courting the girl next door.
~¢ To do that would be to court disaster.
's. In which of these sentences would it be possible to use for in place of because:
~a That this has not happened may be the fault of the university, becanuse at both Oxford
- and Cambridge the colleges tend to live in an era which is certainly not of the twentieth
- century. (Il 14-16)
b Because he was tired he went to bed.
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Comprehension o
Give short answers to these questions in your own words as far as possible, Use one
complete sentence for each answer. .

a Why, according to the author, is it justifiable for a young man to fear death?

4 How does the author regard the fear of death in old people?

¢ What, in the opinion of the author, is the best way for an old person to overcome the

fear of death? '

Vocabulary

Explain the meaning of the following words and phrases as they are used in the

passage: oppressed (l. 1); justification (Il. 1-2); cheated (I. 4); recede (1. 8); merged

(1. 9); decay of vitality (1. 16); weariness (. 16).

_ The Paragraph

1. Which of these s‘taremen_ts best expresses the main idea of the passage ? Give rcasons
- for your answer; . : ' R R
- 'a Old people fear death. A

b While it is justifiable for 2 young man to fear death, it is not so in an old man who

“has known human joys and sorrows and has accomplished whatever work it was in
-him to do.

- ¢ Tt is justifiable for yourg people to fear death.

4 An old man will not fear death if he knows that there are others who will carry on
~what he can no longer do. ' o
-2, The following sentences have been taken from lines 9~19. Arrange them in their
-correct order. Do not refer to the passage until you have finished the exercise:

.

a 1 should wish to die while still at work, knowing that others will carry on what I can

no longer do, and content in the thought that what was possible has been done.

& The man who, in old age, can see his life in this way, will not suffer from the fear of
death, since the things he cares for will continue. B

¢ An individual human existence should be like a river-—small at first, narrowly con-
tained within its banks, and rushing passionately past boulders and over waterfalls.

d Gradually the river grows wider, the banks recede, the waters flow more quietly, and
in the end, without any visible break, they become merged in the sea, and painlessly lose
their individual being. .

¢ And if, with the decay of vitality, weariness increases, the thought of rest will be
not unwelcome.

Key Structures

1. Supply the correct form of the verbs in brackets in the following paragraph. Do not
refer to the passage until you have finished the exercise:

Some old people {oppress) by the fear of death. In the young there is 2 justification for
this feeling. Young men who have reason to fear that they (kill) in battle. may justi-
fably feel bitter in the thought that they (cheat) of the best things that life has to offer.
But in an old man who (know) human joys and sorrows, and (achieve) whatever work
it was in him to do, the fear of death (be) sumewhat abject and ignoble. (1. 1-6) -

2. Note the form of the verbs used after wuti/ in this sentence:

Make your interests gradually wider and more impersonal, until bit by bit the walls of
theego recede, and your life hecomes increasingly merged in the universal life. (11, 7-4)
Supply the correct form of the verbs in brackets in the following sentences: '

a 1 don’t think he will be very pleased when_he (find) ¢ ut the truth,

. .
EEY ~
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When anyone opens a current account at a bank, he is lending the bank moncy,

repayment of which he may demand at any time, cither in cash or by drawing a
cheque in favour of another person. Primarily, the banker-customer relationship
is that of debtor and creditor—who is which depending on whether the cus-
tomer’s account is in credit or is overdrawn. But, in addition to that basically
simple concept, the bank and its customer owe a large number of obligations to
one another. Many of these obligations can give rise to problems and complica-

tions but a bank customer, unlike, say, a buyer of goods, cannot complain that

” the law is loaded against him.

10

“The bank must obe} its customer’s instructions, and not those of anyone else.

“When, for example, a customer. first opens an account, he instructs the bank to

debit his account only in respect of cheques drawn by himself. He gives the bank-

_specimens of his signature, and there is a very firm rule that the bank has no
~-right or authority to pay out a customer’s money on a cheque on which its cus-
tomer’s signature has been forged. It makes no difference that the forgery may
~have been a very skilful one: the bank must recognize its customer’s signature.

* ‘For this reason there is no risk to the customer in the modern practice, adopted

by some banks, of printing the customer’s name on his cheques. Ifthls facilitates
forgery it is the bank which will lose, not the customer. :

GORDO\ BAaRriE and AuBrey L. DiaMoND The Comumer szefy and the Lam

A countr}‘ bank at Alfriston in Sussex
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. Comparc these two sentences:

Instead of saying: The banker-customer relationship is 2 relatmnsbxp of debtor’ and
creditor.

Ve can say : The banker-customer relationship is that of debtor and creditor. (Il 3-4)
Rewrite these sentences using that of:

a 1 am not referring to our policy but to the policy of our opponents.

b The onI} system I know which will help you to remember what you have heard ata -
lecture is the system of keeping notes.

3. Compare these two sentences:

Instead of saying : He instructs the bank to debit his account only in respect of cheques
which have been dramn by himself,

We can say: He instructs the bank to debit his account only in respect of cheques
drawn by himself. (Il 11-12)

- Rewrite these sentences in the same way:

“a The exhibition consists entirely of pictures which have been painted by young
.chlldren

:# "The report on edu_cauon which has been prepared by a government committee will

soon be published.
According to the regulations, income which has been earned overseas will not be

o Ia\ed

 Special Difficulties

1. Write sentences to bring out the difference between the following pairs of words:
- current (1. 1), currant; lend (1. 1), borrow; in favour of (1. 3), for the sake of; whether
(. 3), weather; loaded (1. o), laden; else (1. 10), other: specimen (1. 13), example;
~customer (I 14), chient; cheque (1 14), cheek; practice (1. 17), practise; adopted (1 17),
adapted; print (1. 18), type.
2. Explain the meaning of the word account in these sentences:
« When anyone opens a current account at a bank, he is lending the bank moncy.
(l.1) :
b 1 can’t scttle my account until next month.,
¢ How do vou account for his change of attitude ?
d He gave an interesting account of his travels in China.
¢ Please don’t go to all this trouble on my account.
/ Trains were delayed on account of the bad weather.
3. Note how say has been used in the sense of for exanmple in this sentcnce
A bank customer, unlike, siy, a buyer of goods, cannot complain that the l:m 15 loaded
against him. (1. 8 -4) - :
Write two sentences using s¢) in this way. aE
4. Note that the verb obey is not followed by a preposition:
I'he bank must ul)c) its customer’s instructions. (1. 10) -
\\ rite sentences using the following verbs: enter, discuss, rcach and lea\e
. Write sentences using the following words and phrases: :
in addition to (1. 5): a large number of (I ()) unhl-.c (I h) m n.spcu ui (l 12) for

this reason (1. 17).
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Comprehenswn .

a Ina smg‘le Sentence explam the purpose of an oil derrick. -
b Explain in a sentence how oilmen prevent oil from gushlng to the surface.

o e

Vocabulary

Explain the meaning of the following words and phrases as they are used in the passage:
in diameter (1. 3); drilling (l. 5); haul {I. 8); rotated (l. 8); every so often (. 10); strata
(. 12); endeavour (I. 15).

The Paragraph

1. Which of these phrases would best serve as a title for the passage ? Give reasons for
your choice: Geology Today; Drilling for Oil; Mining Methods; Mineral Deposits.
2. Which of these statements do you think the author would agree with? Give reasons
for your choice:

a The search for oil has.led to an improvement in drilling techniques.
e When drilling for oil, it 1s difficult to obtam samp!es of the rocks the dn!l has been

v cuttmg through.

- Once oil has been found, it is impossible to prevent it from gushmg to the surche

o 3 ‘The following sentences have been taken from the first paragraph (lines 1-9).
Arrange them in their correct order Do not refer to the passage unul you have finished
- the exercise:

a My particular experience is larveh in oil, and the search for 011 has done more to
improve deep drilling than any other mining actmty
b When it has been dec:ded where we are going to drill, we put up at the surface an

o1l derrick.

¢ The deepest holes of all are made for oil, and they go down to as much as 25,000 feet.
d The holes are only borings, less than a foot in diameter.

¢ But we do not need to send men down to get the oil out, as we must with other
mineral deposits.

/" It has to be tall because it is like a giant block and tackle, and we have to lower into

the ground and haul out of the ground great lengths of drill pipe which are rotated
by an engine at the top and are fitted with a cutting bit ar the bottom.

Key Structures

1. Supply the correct form of the missing verbs (must, need or have to) in these sen-
tences. Do not refer to the passage until you have finished the exercise:

a We do not . ..to send men down to get the oil out as we .. . with other mineral
deposits. (11. 2-3)
& It...be tall because it is like a giant block and tackle and we . .. lower into the

ground and haul out of the ground great lengths of dnll pipe. (ll. 6-8)

¢ The geologist . . . to know what rocks the drill has reached. (l. 10) .

d ‘This pressure . . . be under control and we control it by means ofrhc mud which we

circulate down thc drlll pipe. (Il. 13- 1~,)

2. Supply a or the where necessary in the following. Do not refer to the passage until

vou have finished the exercise: _ .
. deepest holes of all are made for . . . oil, and they go down to as much as 25,000

feet. But we do not need to send . . . men down to get . . . oil out, as we must with . . .
other mineral deposits. . .. holes are only borings, less than . .. foot in . . . diamcter.
. my particular experience is largely in. .. oil, and ... search for ... oil has done

miore to improve . . . deep drilling than any other mining activity. (Il 1-5)
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The fact that we arc not sure what ‘intelligence’ 1s, nor\‘what is passed on, docs
not prevent us from finding it a very useful working concept, and placing a cer-
tain amount of reliance on tests which ‘measure’ it. -

~ In an intelligence test we take a sample of an individual’s ability to solve
puzzles and problems of various kinds, and if we have taken a representative
sample it will allow us to predict successfully the level of performance he will
reach in a wide variety of occupations. ,
~‘This became of particular importance when, as a result of the 1944 Education
“Act, secondary schooling for all became Iaw, and grammar schools, with the ex-
ception of a small number of independent foundation schools, became available
to the whole population. Since the number of grammar schools in.the country

“could accommodate at most approximately 25 per cent of the total child popu-

B lation of eleven-plus, some kind of selection had to be made. Narrowly academic

15

examinations and tests were felt, quite rightly, to be heavily welghted in favour
‘of children who had had the ad\ antage of highly-academic primary schools and
-acadcmlcaily biased homes. Intelhoence tests were devised to counteract this

“narrow specialization, by introducing problems which were not based on specifi-

20

cally scholastically-acquired knowledge. The intelligence test is an attempt to
assess the general ability of any child to think, reason, judge, analyse and syn-
thesize by presenting him with situations, both verbal and practical, which are

within his range of competence and understanding.

BeaTRIX TUDOR-HART Learning to Live

Jis

A child playing with an educational toy
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¢ ‘The review i . praises the book highly.
d The people . . . were asked to report to the police.
¢ Accidents | should be prevented.
3. Study thfs sentence pattern:
Examinations and tests were felt . .. 0 be heavily peighted . . . (1. 14)
Write sentences using the same pattern with the following verbs: think and believe.
5. Note the form of the verbs in italics in this sentence:
Narrowly academic examinations and tests mere felt, quite rightly, to be heavily

‘weighted in favour of children who £ad had the advantage of highly academic primary
schools. (lI. 13-15)
~Supply the correct form of the verbs in brackets in these sentences:
‘a He (apply) for the job even though he (have) no previous experience.
b -After the man (hang), the police (realize) they (convict) the wrong person,-
¢ The boy (insist) that he (spend) the day at school even though it (be) obvious to his
- parents that he (play) truant. :

jSpec1al Difficulties

“Write sentences to brm*T out the difference bgmeen the following pairs of v.ords

'act (1.1), event; passed (. 1) past; prevent (1. 2), avoid; \er3 (1. 2}, too; measure (l
ﬂ_-'count result (1. 8) effect; attempt (1. 18), trial; judge (1. 19), Ct‘lthl?t‘ ' -

2. Explain the meaning of the verbs in italics:

) _3. a "The fact that we are not sure w hat “intelligence’ is, nor what is passed o, docs nor
- prevent us from finding it a very useful working concept. (I 1-2)
__/r He puassed aray qu:et!\ at four o’clock this morning.

- “When he told me what had happened, I got such a shock 1 nearly passed o

: u’ Would vou pass round the cakes please Susan?

> This is the counterfeit painting which he tried to pass off as an original V ermeer.
'; Write sentences using the following phrases: : :
a certain amount of (Il 2-3); of various kinds (L. 5); the level ofperformanu. (l ()) as a

-result of (1..8); with the exception of(il y- zo) some kmd of( 1;)

'4. Explain the words in italics: :
';z Narrowly a{.adem;c exammatlons . were felt . to be heaul\ \aewhted m fa\our

f children who had had the adv anmﬂe of htfrhl\ acadcmu. prlmar\ schools (I] 1} h) _
/J He narromly escaped being captured.. ' o : : :

* You should not take such a narroir view of the. smmtlon
a’ He is a very narromw-minded person. - L _

7
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Comprehension e el
Give short answers to these questions in your own words as far as possible. Usc one
complete sentence for each answer. '

2 Which two factors weigh heavily against the effectiveness of scientific research in
industry ?

b Why are some processes in chemical industries never patented at all?

¢ Why are some firms reluctant to borrow books from libraries?

Vocabulary

- Explain the meaning of the following words and phrases as they are used in the passage:
~ weigh heavily against (l. 1); lack (1. 3); effective contact (L. 5); fl_lndamenta\_l (L 8);
processes (17 _9_).; ap__pli_es (L 12); trace (L. 18); l__ikgl_y (! 19). R e e

- The Paragraph

1. Whichof these statements best expresses the main idea of the passage ? Give reasons -
-~ for your choice. - S R SR

: - 'a The ‘effectiveness of scientific research in -i.r_idusl_:.fy__'is_:hgmperq:d by the gcncfal ST
. atmosphere of secrecy which surrounds it and by the lack of freedom of the individual = -
. research worker. -+ T R B e e T

“ b Scientific research in industry is not very effective because big firms wish to keep so 3

" ‘many processes secret.

"¢ Many scientific processes in industry are kept secret until they can be patented.
2. The following sentences have been taken from lines 6-14. Arrange them in their . |
.. correct order. Do not refer to the passage until you have finished the exercise: - .
~a The degree of secrecy naturally varies considerably. - '

"4 This applies particularly to chemical industries, where chance discoveries play a
much larger part than they do in physical and mechanical industries. - '
¢ Some of the bigger firms are engaged in researches which are of such general and
fundamental nature that it is a positive advantage to them not to keep them secret.

4 Even more processes are never patented at all but kept as secret processes.
¢ Yet a great many processes depending on such research are sought for with complete -
secrecy until the stage at which patents can be taken out. ' ' '

Key Structures

1. Change the form of the verbs in each of these sentences. Omit the ‘words in italics.
Do not refer to the passage until you have completed the exercise: .

@ Oneis the general atmosphere of secrecy in which they carry itout. (1. 2)

b They seek for a great many processes with complete secrecy unti} the stage at.which
they can take out patents. (ll. g-11) ' S ‘

¢ Even more processes they never patent at all byt keep as secret processes. (L 11-12)
4 Sometimes the secrecy goes to such an extent that they cannot mention the whole
nature of the research. (Il 14-15)

2. Give the correct form of the verbs in brackets in the following sentences. Do not
refer to the passage until you have completed the exercise: '

2 In so far as any inquiry is a secret one, it naturally limits all those engaged in (carry)
it out. (Il. 3~4) '

b Many firms, for instance, have great difficulty in {obtain) technical or scientific books
from libraries. (ll. 15-16) e
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A gentleman is, rather than does. He s interested in nothing in a professional
way. He is allowed to cultivate hobbies, even eccentricities, but must not prac-
tise a vocation. He must know how to ride and shoot and cast a fly. He should
have relatives in the army and navy and at least one connection in the diplo-
matic service. But there are weaknesses in the English gentleman’s ability to rule -
us today. He usually knows nothing of political economy and less about how
foreign countries are governed. He does not respect learning and prefers ‘sport’.
The problem set for society is not the virtues of the type so much as its adequacy
for its function, and here grave difficulties arise. He refuses to consider suf-
ficiently the wants of the customer, who must buy, not the thing he desires but
the thing the English gentleman wants to sell. He attends inadequately to techno-
logical development. Disbelieving in the necessity of large-scale production in
the modern world, he is passionately devoted to excessive secrccy, both in finance
and method of production. He has an incurable and widespread nepotism in

~appointment, discounting ability and relying upon a mystic entity called

~“*character,” which means, in a gentleman’s mouth, the qualities he traditionally
. possesses himself. His lack of imagination and the narrowness of his social loyal-

.20

‘ties have ranged against him one of the fundamental estates of the realm. He is

incapable of that imaginative realism which admits that this is a new world to
which he must adjust himself and his institutions, that every privilege he formerly

took as of right he can now attain only by offering proof that it 1s directly relevant
to social welfare.

T. H. Pear English Social Differences

Lord Curzon, Viceroy of India, invests the Maharajah of Cochin
with the Star of India in 1903

61
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5. Note the form ‘of the verb in 1taI|cs in thls sentence:
Disbelieving -in the -necessity of iarge-»-scale productlon in the modern world, he is
passionately devoted to excessive secrecy . . . (Il. 12— 13)

Complete the following sentences:

a Realizing...I...

b Leaving...he...

¢ Finding ... they..

Special Difficulties

. ‘Write sentences to bring out the difference between the following pairs of words:

_-allowed (1. 2), aloud; even (l. 2), still; vocation (l. 3), vacation; refuse (L g), dem,
“attend (1. 11), follow; admit (1. 19), agree; formcrly (L. 20), formally. SRR
2. Explain the meaning of the word service in these sentences:
“a He should have relatives in the diplomatic service. (1. 3-5)
b Their after-sales service is excellent.
¢ T have just completed my National Service.
- d He asked to see the manager and complamed of the poor service.
"¢ *We have a very good railway service in our part of the world. o
“Supply full stops and commas where necessary in the followlncr paragraph Do not
» 'refer to the passage until you have finished the exercise: L
- He refuses to consider suﬁ1c1enth the wants of the customer who must bU\ not the
thing he desires but the thing the English gentleman wants to sell he attcnds inade-
quately to technologlcal de\elopment disbelieving in the necessity of iarge scale
* production in the modern world he is passionately devoted to excessive secrecy both
~in finance and method of production he has an incurable and mdespread nepotism in
~.appointment dtscounung ability and relying upon a mystic entity called ‘character’
“which means in a gentleman’s mouth the quahtles. he trad:tlonaliy possesses hlmself

.5(1191)

"I'he opposites of the following words are to.be found in the pass.lgL \\ h.n are thu,
ama[eur forbidden; mabihity; adaqu.xtch bche\mg, cumble capab!c 1rrc1cx ant.
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Compr eheﬂSlon e dan

Give short answers to these questions in your own words as far as possible. Use one
complete sentence for each answer. :

a In what way is a modern factory similar to a large city?

b What, according to the author, led to the building of huge skyscrapers?

¢ What do those who enjoy living in cities fail to realize?

- Vocabulary

. Explain the meaning of the following words and phrases as they are used in the passage:

physiological (Il 1-2); neglected (I. 2); expanded (l. 5); artificial mode of existence

(1. 7-8); regard (I. 8); the maximum income (l. 10); construction (Il 11-12); banal
- (L. 14); monstrous edifices (I. 15); toxic (L. 16); thronged ceaselessly by great crowds
- (I, 17-18). C

__'Th.éifParagraph

B 1. Which of these statements best expresses the author’s main argument ? Give reasons  *~
L U . - - co - L L . . . . B Ll
for your choice: .. - . ' - : : :

rofit. : : : o
mpose on us an artificial way of life. -

- a Modern cities have not been planned for the good of their inhabitants. *
.- b Man is obsessed by the desire for ) o e

¢ Great cities, like modern factories: _
- 2. The following sentences are taken from lines 1-8. Arrange them in‘their correct -

order. Do not refer to the passage until you have finished the exercise: -

Modern industry is based on the conception of the maximum production at lowest

_‘cost, in order that an individual or a group of individuals may earn as much money as

possible. In the organization of industrial life the influence of the factory upon the

- physiological and mental state of the workers has been completely neglected. It has
~-expanded without any idea of the tru¢ nature of the human beings who run the
~ machines, and without giving any consideration to the effects produced on the indi-

viduals and on their descendants by the artificial mode of existence imposed by the
factory. - L G

Key Structures

1. Give the correct form of the verbs in brackets. Do not refer to the passage until -

you have finished the exercise:
In the organization of industrial life the influence of the factory upon the physiological

“and mental state of the workers completely (neglect). Modern industry (base) on the

conception of the maximum production at lowest cost, in order that an individual or a
group of individuals may earn as much money as possible. 1t (expand) without any idea
of the true nature of the human beings who (run) the machines, and without (give) any
consideration to the effect produced on the individuals and on their descendants by the

" artificial mode of existence imposed by the factory. The great cities (build) with no

regard for us. (li. 1-9)

2. Study the pattern in italics in this sentence: -
Modern industry is based on the conception of the maximum production at lowest
cost, in order that an individual or a group of individuals may (or might) carn as much
money as possible. (1l. 2-5) LS :
Complete the following sentences:

« He is attending English classes in order that . ..

b She works very hard in order that . ..
¢ The Prime Minister has gone abroad in order that. ..
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